O

RERRTLLLLETELE R B
W

T 2 2 2 2 2 2 T
8"“ “‘.“"OOOOOOOOOOOOOOOOOOOOQOOO0000...0..0‘

:% mmmﬂvﬁmg@m@ﬂﬁa&:mmmw:@ﬁl E
. O

.3 O »
# . gigi
: e 2020 = ais
: e f ) = 1
¢ QTETA eI — | D © dze
. k -

2 FU2 . e
§m ... w quTieh 200:
zmwmm% 3 4 l 3
" : #
¢ s ford e | ! A
¥ il % I F ford A W ara-wi : .
gm ATA -T2 9 F71 T FL | s
@ seef] IA-TAF TIW A A TeA Wl S5 F1 FEATHIgES 72 | S
zmﬁwdﬂ(%dﬁdﬂ-mwﬂéﬁﬁ|Qﬁan#:7*nﬁw—mﬁlﬁgfdﬁﬁ%6ﬁlﬁﬂél ¢ |

R P

gufl wedl & 3T S | @l WAl & 3F THE |
m—mmamﬁmm,ﬁw,m—wmn@ﬁz@pﬁﬁaﬁﬁmaﬁmm—mmw

781 fapan wwm oK IEe fwier @ anadi 1 &l | it
3@ qiterur gitaest | 150 U9 & | ST W ¥ T (4) Aafoue 3 e & A few e # ) 9 R H A A 4
s & T I 2 | o Il 3 e o g 3t g 8, -0 3 T AT g6 i e A -Se O
9 § QO HTeA FE | | -
I 3 mmg@m%wﬁam@:%@i lmm%mqﬁmgﬁm%mﬁﬁqmag@t:

!\)_s

%

T I HL | o

- < Y\ AN \ \ % N .

F 5 qﬁmgfﬁﬁr@ﬂﬁch mmmma@a%wﬁm‘maﬁﬁmﬁwuﬁ-uﬁwm@%mﬁqﬁ&m.
: Wﬁﬁmﬁ.gﬁﬁ%ﬁfa@mﬂmﬁaamﬁaﬂ qfeaht 9T A | -

PR M
.samgﬁ:awﬁwﬁ&iﬁa%ﬂﬁﬁmﬁﬁaﬁﬁ%,%mﬁ(%?ﬁ/m)ﬁw\ﬁmm:
qraet & 3l Gt Tl & |

TTeTd 39U & ToIU 2Us |
w-mﬁmmﬂmﬁqwmﬁﬁ%%ﬁmﬁmml
(i) e oA % forn, = Ao I E | efieaT 2 weE e o foru fa e v e e & fer e ¥

ﬁwaﬁqmmmﬁ-ﬁgém%mﬁ\mml B
(ii) Hfi’@ﬁsm’i{du({%ﬁmﬁﬁﬂﬁ%,ﬁwmmmm,WﬁﬁQmﬁﬂﬁﬁ@maﬁ

ﬁm%,ﬁnﬁwm%mmﬂﬁuﬁmwm%mm|
(iii) I3 3 “i«:aumaﬁ’éwmqﬁ%mm%azﬁammmwwﬁﬁmm%,aﬁmw%m

whIs U TEl fag1 ST |
A8 TRt B 7 Lo, A IR m R, ocih, i P B R o g Sl _
Note: English version of the instructions is printed on the ba
00&#&0&&&#&&&00&&aa&aaat30900actcatttttotott

ck cover of this Booklet.
ERUBBERBEG

Scanned by TapScanner




s

7.

D

ing | orrectly
Which one of the following is NOT €

. mat(céwggn’im (Rca%;;ittal)
(a) Morocco & Tunis
(b) Tunisia —  Algiers
(c) Algeria _  Bamako

(d) Cape Verde

|
Where was the Mitti Bachao (Save the Soil)

vement started in India ?
(“g)oThane, Maharashtra
(b) Mysore, Karnataka
(c) Darbhanga, Bihar :
(d) Hoshangabad, Madhya Prades

' ' South
Postmasburg and its adjacent areas of Sol
Africa is majgr producer of which of the following

minerals ? |
(a) Uranium (b) Bauxite
(c) Manganese (d) Mica

Without green house effect, the average
temperature of earth surface would be
(a) 0°C (b) —18°C

(€) 5°C (d) —20°C

Match List — | with List — || and select the correct
answer using the codes given below the lists -

List - | List — Il
(Mountain) (Country)
A. Atlas 1. France/Spain
B. Kalimanjaro 2. Ecuador
C. Chimbrozo 3. Tanzania
D. Pyrenees 4. Morocco
Codes :

(a) Ecological Succession
b) Sere

(c) Community dynamics
(d) Pyramid of biomass

In Malaysia the Kinta
(a) Rubber Productio
(b) Tea Production
(€) Tin Production
(d) Coffee Production

Valley’ IS famous for
n
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(C) §*€ (d) - 20°C
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16. In human body, the digestion of protein begins in
which of the following organs ?
(a) Liver
(b) Mouth
(c) Small intestine
(d) Stomach

17. In the removal of which of the following officials

does the Parliament NOT play any role ?
1. Judges of the High Court

2. Judges of the Supreme Court

3. Chairman of the Union Public Service
Commission

4. Comptroller and Auditor General of India

Choose the correct answer from the codes given
below.

Codes :
(@) 1and 2 only

(c) 1,2 and 3 only

(b) 3 and 4 only
(d) 3 only

18. Use of polished rice in human diet causes
following diseases

(a) Rickets
(c) Goitre

(b) Anemia
(d) Beriberi

19. The superintendence, direction and control of all

elections to the Panchayats are vested in
(a) The Governor

(b) The Election Commission of India
(¢) The District Panchayat Raj Officer
(d)

d) The State Election Commission

20.  Which ofthe following vitamins is mainly responsible

for blood coagulation-in human being ?
(a) Vitamin'k

(b)" Vitamin E
(c) Vitamin A (d) Vitamin C
21. ~Which one of the following pairs is NOT correctly
matched ?
(a) |qterstate Council - Article 263
(b) Fmanqe Commission™ — Article 280
Eg)) /L\Jdmmn;trative Tribunal - Article 323A
nNioR.Public Service — |
Commission Pilitis 315
D

RFL -1

16. TFE IR & NI =1 e Preafafea 3 | fa 3m
¥ R gl @
(a) Ipd

(b) 4&
(c) B ATd

\/(,d) HATHRE

17. P F-2 verieidl @ gen § GEe H B
vifirehT 7@ Bt ® 7
1. 39 AT & e
2. ISIqH AT & Tt
3. Y, WY Al AT FAEN
4. G & ek 3 qeeEaies

A 2 ™ fe @ wd s |
Fe:
(a) a1 qUT 2 (b) hae 3 TUT 4

(c) et 1, 2 YT 3 e Had 3

18. WFE MR ¥ e R &3 wrae % Igg
Frfafien o & Srar @
(a) g@r-am
(c) =T

(b) TdTeqdr
ey s

19. d?mﬁ%féqmwﬁarémﬂﬁahﬁ%m

1 Jreiterr, frewm o framwr fifeg g 2
(a) TSI o

(b) WRa & fatew 3m
(c) o vure o IR
) Tsa Tt amam §

20. ﬁw%f@aﬁﬁﬁq-mﬁaﬁqmﬁwﬁm
% fore fmier R

e T % (b) fererfim 3
OREIEERY (d) faerfim =
21. IH W HH-T1 T wE gl iR
\(a) 3w gfwe - 0% 263
(b) fot 3 - 3R 280
(c) wmafeh ARy - aeRE 323 %
(d) &9 &k &a1 ImMT —  3ERT 315
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> Consider the following statements about human

brain .

1. The brain is responsible for regulating the
heart beat.

2. It is responsible for balancing the body.

Select the correct answer using the codes given
below.

Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) 1 and 2 both are correct
(d) Neither 1 nor 2 is correct

3 Which Article of the Indian Constitution describe
the Centra! Vigilance Commission ?

(a) Article 268 (b) Article 280
(c) Article 276 (d) None of the above

b4 Which of the following substances is obtained
from a tree ?
(a) Asafoetida

(c) Tinca!

(b) Bitumen
(d) None of the above
25 Consider the following Chairpersons of the
National Women Commission :
1. Jayanti Patnaik
2. Mamta Sharma
3. Dr. Girija Vyas
4. Dr. Poornima Advani
Select the correct chronological order of their
appointment from the codes given below.

Codes :
(a) 2,1,3and 4
(c) 1,3,4and 2

(b) 2,3,1and4
(d) 1,4,3and?2

26  Given below are two statements, one is labelled as

Assertion (A) and other as Reason (R)..

Assertion (A) : Invertsugaris more sweeter than
SUCrose.

Reason (R) . Invert sugar is obtained by the
hydrolysis of sucrese.

Select the correct answer from the codes given
pDelow.

Codes :

(a) Both (A) and (R)are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the’
correct explanation of (A)

(c) (A) is true but (R) is false
(AN [AY ie falae bt (R) 1S true

22

23

RFL - |

. mq@m%uﬁﬁﬁw&rﬂaﬂﬂ:ﬁq‘w

Hifsra
" s g @) Frif T o forg 3
> a5 3R % Gaer ¥ fore Faeerd 2 |
A fol ™ e @ wé I I |
e .
(a) ot 1 TEI B
2 WA B
(c) 1 3T 2 <1 w2
ERIRER X R

. wmﬁmmﬁ:-mmwm
SR o1 9ol T & 7

04, Frefeifian i & - Tae g & I o A 7
7{4@1\/ (b) Tarersiia
AT TR (d) ITdFa | | BI3 T
25. mwﬁwm%ﬁmﬁ#@aaw&ﬁmw
ifsru
1. JIdl 92AEIH .
2. Hydr A ;
3. of. Tl =
4 21, gfoimT arsarl
T3 Fgfaq &1 gdl sreged 9 fed ™ %e H
9y |
H2
(a) 2, 1, 3 3 4 (b) 2, 3, 13 4
(c)1,3,43M2 (e 1,4 33MW2
26. 2 Q wu fd m &, Tl A v 1 Fuw (A) qen
At ! HRVT (R) HET 741 2

HUA (A) | GhIS <l U TdlT weh AfuF w
il 2 |

WO (R) : W19 ¥R ! GohIS o Sei-3T9e §
s femarn ST 2 o

fia fodt T e @ g I g |

L I ;
&) (A) 3 (R) 21wl & 1 (R), (A) W&
ST Ll B
(b) (A) 3 (R) a1 el & 9t (R), (A) ! wel
ST A8 HLdl B
(c) (A) & & 4G (R) Tetd &

(d) (A) TTetd ® uted (R) O R
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14

15.

Which of the following natyra

contains iron (Fe) ? Substances
(a) Chlorophyli b
(c) Keratin id)) ;oy‘:g':;

n

The equator does NOT
the following Countries ?paa through which of

1. Gabon

2. Somalia

3. Equatorial Guinea
4 Rawanda

Select the correct answer .
below. using the codes given

Codes :
({a) fand 4 (b) 2 and 4
(c) 2and 3 (d) 3and 4

change in the base sequence within a gene is
called

‘a) Mutation
¢) Fusion

(b) Cloning
(d) Breeding

W ch Part of the Constitution has the provisions
for Panchayati Raj System ?

(@) IX (b) VI
(c) Il (d) IVA
Which of the following is used in fire alarm ?

(b) Water
(d) None of the above

(a) Photo cell

(c) Solar cell

When was the third tier added to Indian Federal

System ?

(a) 1990 (b) 1991
(c) 1992 (d) 1993
Which of the following polymer is NOT a

thermoplastic 7
(a) Teflon
(C) Polystyrene

(b) Neopren®
(d) Polythene

ngis NOT possible py a law of

‘ the follow g o
R ticle 3 of the Constitution ?

Parliament under A
(a) Formation of new States

b) Alteration of areas of States
C

(
(C) Alteration of boundaries of States
(d) Admission of new States

8. Waammmam(pe)mm
g R ?
FAUHA (b) A
c) &ufed (d)rmﬁ@fa“
9 Wﬁﬁ%ﬁﬁﬁﬂ@tﬂ%@ﬂﬁ
ot R 7
1. =
gt
yen W@t
A4 T8l
A3 R T 2 & wh I AT |
(a)}3m4 \/wrzaﬁu
(c) 23 3 (d) 33 4
10. sﬂ:%xﬂmmmmﬁw&aﬁ?mﬂt
W (b SferEq
(c) A (d) ) S
11. q%m%ﬁmmﬂﬁ&mwﬂmaamm*ﬁ
yrau 23 T RY
AR (b) VI
O@'JV&
12 mmﬁﬁﬁmﬁﬁmﬁﬁmmm
AT B, ?
(a) il (b) oA
(c) ¥R B 6 I # @ &g TR
13 ity ST oA § g T HE g T ¢
(a) 1990 (b) 1991
(c) 1992 () 1993
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27 Which region of the country conferred special

(d) Ladakh

28.

29.

30.

31.

____“',."‘n.'”' o o

status under Article 371-J of the Constitution of
India ?

(a) Nagaland

(b) Hyderabad and Karnataka

(c) Maharashtra and Gujarat

Match List - | with List — |l and select the correct
answer from the codes given below the lists :

List -1 List -l
(Metal) (Property)
A. Sodium 1. Good conductor
‘ of electricity
B. Mercury 2. Liquid at room
' temperature
C. Silver 3. Poor conductor of heat
D. Lead 4. Can be easily cut with knife
Codes : |
A B C D
@ 2 3 1 4
b) 1 4 3 2
c) 4 2 1 3
d 4 1 2 3

Which one of the following is NOT correctly
matched ?

(a) Fundamental Duties - - PatiVA
(b) The States - Part VI

(c) Attorney General of India -  Part XIl|
(d) Services under the -  Part XIV

Union and States

Match List — | with List — Il and select the correct

answer from the codes given below the lists
List - | List -1l
(Substance) (Use)

A. Blue Vitriol 1. Artificial rain

B. Eosin 2. Fungicide

C. Silver iodide 3. Red ink

D. Zinc phosphide 4. Rodenticide

Codes :

A B C D

@ 2 3 4 1

(b) 2,71 3 4

€) 2.3, 1 4

() 2~ 4 1 3

Which Articles of Indian Constitution are related
to citizenship ?
(a) Article 310 10 (b) Article 4 to 11

(c) Article 5to 11 (d) Article 6 to 11

07 W Gfaue &
fipg & & fam &1
\/(z(?rm'@rﬂg
(b) FeuETe I HATEH
(c) HERTSg 3R o -
(d) TGS |
28, wet -1 ® g - 1A Gk AR T S
A3 R T e @ A IR I |
w_l @—“
34,
D. & ( 4 =% @ FEE | He A "
g 8
w2 :
A B C D
@ 2 3 1 4
) 1 4 3 2 35,
ey 4 2 1 (3
d 4 1 2,.\3
09 frefirfad § A $HH-&1 T Gé gufora & & 7
(a) g&1 e - "IV
(b) TA ~ WV
(C) MTTd =l HE-IEETa] — ¥ X
ﬂmﬁtnﬁ%mm — 9 XIV
30. (gl - | g - 1| & gufea Hifve aur gfagt &
2 M %2 | w9 33 gfu
gt - | g - I
(q2re) (Fr)
A. e e . W i
B. 337if&A 2. HAhATI
C. faean 3. | SE -
D. S wieweges— 4. Famameh (TS=eATeh) |
w2
A B C D
@ 2 3 4 1
(b} 2 1 3 4
2 3 1 4
d 2 4 1 3
31, HRAW GRUH % - 3 TR 3 gaftd ¥ 7
(@) =BT 3/ 10 (b) =BT 47 11
AT IR SR (d) BT 6H 11 "
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| synthetic ?
,‘ (a) Fibroin (b) Lexa
',' (c) Neoprene (d) Teﬂorr:
|
33 Which is the largest Commi :
Parliament ? ttee of the Indian
(a) Public Account Committee
(b) Estimates Committee
(c) Committee on Public Undertaki
/ (d) Committee on Petitions b
J : |
34. According to the Report released by NITI Aayog
in Decemper 2019 on ‘Sustainable Development
Goals India Index 2019-20', the Uttar Pradesh. is
| grouped under which of the following categories ? -
f (a) Aspirant
| (b) Performer
(c) Front runner
(d) Achiever
35. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :
Assertion (A) : The nature of Indian Political
System embodies the elements of ‘continuity and
change'.
Reason (R) : The Indian Political System
contains the elements of the following political
system such as the modern style, the traditional
style and saint style.
Select the correct answer from the codes given
below.
Codes : |
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A) |
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true
3. Which of the following cities of Uttar Pradesl:
s/are covered under the ‘Heritage City [’)gveIOpmen
and Augmentation Yojana (HRIDAY).:
1. Varanasi
2. Mathura
3. Prayagraj
4:Ayodhya :
Select the correct answer from the codes given
below
Codes : '
(a) Tonly (b) 3 only
() 1/and2 (d) 1,2, 3and4

Which one of the following Substances is NOT

RFL - |

32. Freiffad # & H-a1 Hfm el 7@ 2 7

e TS

33.

(b) ™
(c) s (d) 2T

Wy deg Y ged 9t affa - 2 7

\/a)ah@r@v&fa

-

B

35.

(b) WTeeheE Ffufd
(c) & 39k |iafa

(d) arfaest afafd

fify 3@ gro femraw 2019 ® S ‘@da o
LRI G I 2019-20' 9 S} fgid & 3ITHN

guhish
I W2 I FaeAferfgd ot § & fpad afferd feha

™R ?

(c) 3usft (e T)
(d) S& Urdehdl (THTE)

H= <1 *eE fea 1 2, T 9w &1 YA (A) U

gat @l SRV (R) Fal T 2

FUF (A) : YR Tadifas syaryr i gsid H

e vd af@d= % a9 gd €9 ° 9™ S 2 |

&1 (R) : YEAT Taifaes saaey 4 f= uaHifas

SN HH=-3TY e e, FErTg defl au1 g4

Aeft &+ Fea gurfad 2 |

= f@ ™ & 8 ad I i |

C A

(a) (A) 3 (R) GH1 |& & 7 (R), (A) 1 G&l
T T 8

(b) (A) 3R (R) g1 §&l @ W (R), (A) I @&
STEAT J81 &l 8

AG (A) & R g (R) e B

36.

(d) (A) TTeTd & 9% (R) W&l 8

IW Yo & Frafafes =i & @ H9-1/8 faugs
W& fahra 3R gfg A9 (8e@)’ & 3=ata wnfire
ERIRCIERRICE 5 3

1. SROOTEH

2. W
3. WIS

4. I
4= fea m %2 | wd I g |

Fe
(b) had 3

(a) had
(c) 137 2 \/m1,2,33ﬁz4
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” Vof | 37, i # g fea O A 1
37.  What can be the minimum strength of Counc 3
Ministers including Chief Minister in the States b) 12
(a) 10 ( j
(a) 10 (b) 12 ©) 13 \}‘” 14 i
(c) 13 (d) 14 ; g
" fa| 38 o 3 SR TR e TE & T S
38. What should be Total Fertility Rate (TFR) of @ ’ (. 0%.3A.) F g ey ? §
population in order to reach at the replacement BT Jof [ .
level of fertility ? (a) 1.0 (b) 1. ,
(a) 1.0 (b) 1.6 2 1 (d) 2.3 i |
(c) 2.1 (d) 2.3 » N |
| 39 wna ¥ gt =med A GlagT @ U CE | |
39. The Supreme Courtof India enunciated the doctrine - 5 e g | ((
of “Basic Structure of the Constitution” in g 3
- (a) MY a1 1967
(a) The Golaknath Case in 1967 a1 1973 3 44 T
(b) The Keshavanand Bharati Case in 1973 A 3.;3'3';';3 HIe B i " a
(c) The Shankari Prasad Case in 1951 (c) IRl FHTG 4TS ; ! | (b
(d) The Sajjan Singh Case in 1965 (d) == g a1g 1965 ! |
Y K NPT (c)
40. Which of the following methods has/have been | 40. ¥Rd H Tl @ 1M & ﬁqﬁ%@:’ q 8 A *‘"/? o |
used to estimate poverty in India ? Fafert =1 e fopar W @1 /2 ,' '
1. Head Count Ratio 1. faz mora fafy ’ (d)
2. Calorie intake 2. heAlt UGV 45 Give
3. Household Consumption Expenditure 3 grfEarfes ITURT & . | aEA
4. Per Capita Income 4 ufy =af3q 313 ! Raw:
gellgvc;t the correct answer from the codes given 3 o3 e & gEt I gﬁu , ; fadln
elow. . - Reas
Codes : e | with [
(a) 2and 3 (b) 1,2and 3 (a) 2 3103 5] 2 3’9’;;( ; Safar
(c) 3 only (d) 1,2,3and 4 (c), < 3 Al 1,2, 3 AR 4 el
~ : . ? ; Code:
41. Which one of the following is NOT correctly | 41 Wa H ¥ H-91 U H&l gufcid T8 8 ? { (a) Bo
matched ? _ @y SIS 39A  — HHM 2 Ud e (\a cor
(a) Article 39A - I[Zg:?la.l}éjstlce and free | faf% g (b) Bol
(b) Article 40  — Organisation of Village (b) 31d=eq 40 — U™ 9914l 1 13 ; cor
Panchayats (c) H=D% 44 — Y AnTie dfgar () (A)
(c) Article 44 — Uniform Civil Code Eq—éﬁ : B ; d) (A)
(d) Article 48 — Separation of Judieiary (d) %0 . F1 HATIAH] (@) &)
from Executive q JYarhiv] 46 With ref
5 - | | the follo
42 With reference to ‘Ayushman Bharat Yojana' which | 42. ‘3™ WRd AT & @< | frafafas 4 4 1. "HAL
of the following statement(s) is/are correct ? HI-T1/8 HUT I 2/2 ? | Minis
1. This Yojana-provides free heaith.insurance 1. ¥g A9 ufd safdq 9fg om@ w93 *1 qu | Gove
of Rs. five lakh-per person. Wi ‘ ; 2 It was
| s, 1 ey UG il B |
2. The expenses incurred in this Scheme 5 o % B i . _ | Care |
(Yojana).is shared between the Centre and - 9 IS H B4 9T o4y H &3 3R =T § Select the
State in 60 : 40 ratio. ‘WHEI{T 60 : 40 & 37U H &t B | i below
Select the correct answer from the codes given fra fea ET 4 981 3| gﬁm , ; Codes :
below. FC 1 (a) 1only
Codes : Fae : (c) Both 1.
(a) 1 only (b) 2 only (@) y (b) m s g
(c) Both 1 and 2 (d) 'Neither 1 nor 2 /K) 1 31K 2 gHI (d) 9dr 198t 2 j D
D 8. £

e
R .A““"“"a‘.\‘
N
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43. Consider the following statem

ents in the context
of Attorney General of India -

1. The President shall appoint a person who

IS qualified as to be appointed a Judge of
Supreme Court.

2. The Attorney General shall receive such
remuneration as the Parliam

ent ma
determine. :
Select the correct answer using the codes given
below.
Codes :

(@) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

44. The main objective of sustainable tourism is

(@) To increase the number of tourists

(b) To manage mass scale tourism and small
scale travel

(c) To manage tourism and environment while

maintaining cultural integrity and ecological
processes

(d) None of the above

45. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R) :

Assertion (A) : Indian federalism is called ‘Quasi-
federal’.

Reason (R) : India has an independent judiciary
with power of Judicial Review.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

46. With reference to the ‘'HAUSLA — 2018" which of
the following statement(s) is/are correct ?

1. '"HAUSLA — 2018’ was organised by the
Ministry of Women and Chiid Devglopment,
Governmentofindia in New Delhi. |

2. It was'National Festival for Children of Child
Care Institution. |

Select the correct answer from the codes given

beiow.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

i

RFL — |

43. YA & WETIEETd & geed § fy=fefigd 9l ®
féranaﬁﬁ-m:
1. Ueguta forelt va safeq 6 fgfeq wom <0
IS =TI % =y % w9 § g & v
318 & | |
2. WEIHATS! a1 qiiefiyes wieq shm Al HEG
3aYTig X |
e fea ™ Fe @ ad 3w gfu |
2 :
(a)%»aa1g§
(bY had 2
(c) 13N 2 31 |t &
(d)Fd@ 19§ 258 2

44, TINHI (TRASH) R F 4 I 2
(a) wdeH! i T | gig
(b) 918 M W G 31N oY I 9T ATHIA] 1
Y& T
ACY wipfas sr@vedr it uiifeufas afsransti @
S T@d U G 3N gATat ey il
(d) 39Ued | & HIS ]

45 i g wyA f AR, 590 4 v & YT (A) U
@ﬁW(R)WW%:
HUA (A) : THATH AETeqS SFTEIT Y -FITeHE'
&gl JTd] 2
FAOT(R) & YRd H U a3 aauifarss 2 59
= gHfferor 1 Afusr 2 |
4 T3 14 e # | wd IW g |

}aHAmﬁt(R)a:fmmw(R),(A)a‘ﬁaﬁ

> Ul T R !

(b) (A) 3R (R) qHI @& & T (R), (A) Fi wa
AT 981 Ll 2

(c) (A) ¥ 2 W (R) 7Teid 2

(d) (A)7Teid 8 9 (R) §cd 2

46. BH - 2018 % Fe | Fffad ¥ & -/
YT HE 2/2 7
1. ‘BT — 2018’ T IR 9iget w9 a7
faehra WaTera, wRa R g T8 feeeh 1
femam TR o |
2. 98 9=l ! C@-1E@ HA el GEq137 ¥ a5
1 U Ic8d o |

A fe ™ e @ 7 3w g

E T4

(a) sad (b) et 2
e 1 3 2 i (d) Fd 19 & 2

- ——

, . ' : 2 e
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47 Joint sitting of Lok Sabha and Rajya Sabha can
take place to resolve deadlock over

(a) Ordinary Legislation
(b) Money BiIll

(c) Constitutional Amendment Bill
(d) Appropriation Bill

48. India aims to achieve the 5 trillion dollar

economy by
(a) 2022 (b) 2024
(c) 2026 (d) 2030

49.  Which of the following gave legal basis to extra-

ordinary powers exercised by the Government
of India during Lockdown ?

1. Mental Health Care Act, 2017

2. Disaster Management Act, 2005
3. Enemy Property Act, 1968

4. Epidemic Diseases Act, 1897

Select the correct answer from the codes given

below.

Codes :

(@) 1,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1,3and 4

50. Human Development Report 1997 introduced
the concept of Human Poverty Index (HPI) but
Human Development Report replaced it with
Multidimensional Poverty Index (MPI) in the

o ———

year
(a) 1999 (b) 2005
(c) 2010 (d) 2015
51.  Match List - | withii‘st — Il and select the correct
answer using the codes given below the lists :
(Articfe) "% (Provision)
A. Article 61 1.4Removal of Deputy
B. Article 67(p)
C. Article 94
D. Article 90 4. Ramoval of Speaker
Codes :
A B C D
(a) 2 4 3, &
(b) 3 2 4% "N
(c) 2 3 4% 4
(d) 4 1 37, =

Prerferfiad & @ fra o R gL 0 3G A by B 52. Giver
47. meﬁmm@M?? ' j as As
(a) T fauae , Asse
(b)%ﬂfam ‘Nati
(c) waurfae gnya favas of 2C
farfr ot Reat
.‘/(E') equi
48. T 5 faferr erer srefodaee 1 e Fd e I Sele
A I AL @l B 7 belo
(a) 2022 /(5) 2024 | Cod
(c) 2026 (d) 2030 (a) |
49. THHSIIH' & S WA TTHR- I T STETIT | '-.' b);
wfl 6 faferes smum fieiffaa § @ f e || <
q 9 g3 7 . '
1. ¥eet R FALUF, 2017 (c)
2. feamer Az wae, 2005 (d)
3. w-grafe o1 ufdt yradf vae, 1968
4 fesfors wae, 1897 53. On
A fed 7 e @ wdt 3w gf As!
L T (a)
(a) 1,2 3 3 (b) 2,33 4 (b)
V(pyzsﬂu (d) 1,33 4 (c)
d
50 me(qa.vﬁam‘.)ﬁmmm @
faemg 1997 4 weqa it ot Sfd e farrg 54 W
ﬂﬁéﬁsﬁagmnﬁaﬁqam(mﬁm)m D¢
ﬁw%%aﬁé%aﬁﬁMWM? st
(a) 1999 AB) 2005 1
(c) 2010 (d) 2015 -
2
51. @-lﬁ@-llﬁgﬁmﬁﬁqmqﬁaﬁ%
ﬁﬁ?}ﬂﬁﬁéwﬁmqﬁn: §
T - | T - ) |
(3Te8) () ' (C
A. 3=3< 61, 1. TS 8991 & 3u-gumfy o (c
Eaferacy :
B. I8¢ 67(@) 2. el w waifw 1 55. Iy
C.HT=WG94 3. Iwrgfy =) mopy 1a F
D. 317=85 90 4. ¥Rt &l geET 1% (i
e i (
A B ¢ I
(@) 2 4 3 1 3 i . k
(b) 3 2 4 1 -
A 2 3 4 1 2 (
d) 4 1 3 2 1 (
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Given below are two statem
. ents :
as Assertion (A) and Other oo

Assertion (A) : Governme |
nt

‘National Infrastructme Pinel has launcheg the

of 2020-30.

Reason (R) : The objective
equitable access to infragt,

Codes :

(a) Both (A) and (R) are true an
correct explanation of (A)

(b) Both (A) and (R) are trye but (R) is not the
correct explanation of (A)

(c) (A) Is true but (R) is false

(d) (A) Is false but (R) is true

d (R) is the

On which of the following dates, Constituent
Assembly of India adopted the National Flag ?
(@) 22 January, 1950

b) 24 January, 1950
(c) 22 July, 1947
(d) 22 July, 1948

{149
ThTH 54 With reference to the World Bank's Ease of
) &I Doing Business Report, which of the following
? statement(s) is/are correct ?
1. In Ease of Doing Business Report 2020,
India’s rank is 63. | '
2. India ranking for Ease of Doing Business in
T % the year 2019 was 77.
Select the correct answer using the codes given
oelow.
Codes : '
Y (@) 1 only (b) 2 only
qtd | c) Both 1 and 2 (d) Neither1 nor 2

In which of the following places the Bio-technology

, Park is located-in_Uttar Pradesh 7
& 3) Kanpur (b) Ghaziabad

(CyNOIBA (d) Lucknow -

6. | Mitof investment for outstanding corporatgubé)gnedt
fQr Foreign Portfolio Investment In S
2020-21 has been extended upto
d) 9% (b) 10%

f) 128 (d) 15%

RFL - |

52. 1= Q FoF A M &, Rl & v 1wy (A) T
@ﬁW(R)WW%:
®UA (A) | T gl ggges (T304’
TR AT 2020-30 it ayafyy & fon sy ford
TR
RO (R) : .37t o1 3297 gvft =1 @9 grarTd
gfayr g e 2 |
A= e ™ e & a1t 3w g
¥
(a)AA) 7T (R) GF1 & & 31X (R), (A) ! F&l
ST AT 2 |
(b) (A) T (R) 21 @ed & wi (R), (A) I H&l
AT T&] LT 2
(c) (A) ¥ & 9 (R) Teid 2
(d) (A) TeTd B 9 (R) 9& 2

563. W4 = diaum awr A F=fafea o @ feg &t
U &9 & YFFT ?
(a) 22 S=aL, 1950
Mof 24 Saft, 1950

54. fawg-ds&l 9 3% g3 foom RO’ & g A
fr=fafiga wual & & S9-w1/8 = ad /3 7
1,89 3% 537 fasmm fdié 2020 & w57

63 a1 T 2 |
2. 99 2019 ° §91 31T% g3 fasg § urg =
77 91 ¥H o1 |
A= fe ™ g2 & 5 3w g
He :
(a) a1 (b) et 2
ort s 2 (d) A 1T A 2

55. I WY H R-Iarerst urh Frefafad st &
| wel feya 8 7

(@) I W BRIERICI
(c) T (d) TRETS
56. 1 ¥ 2020-21 % G IHR FURE e §
faceft géwiferat fraw it o wer & wit 2
(a) 9% dh (b) 10% dh
(C) 12% Ad) 15% T
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2
ng and Evaluation

57. The Development, Momtonogress of long term

58. Match List — | with List -l and

59.

60.

61.

Office, which monitors the pr
policies in an attached office under

(a) Prime Minister Office
(b) Ministry of Home Affairs
(c) Cabinet Secretariat

(d) NITI Aayog

select the correct

answer from the codes given below the lists
List -1 List -l
(Scheme) (Launching Year)

A. P. M. Jan Arogya Abhiyan 1. 2015

B. P. M. Vaya Vandan Yojana 2. 2018

C. P. M. Rojgar Protsahan 3. 2017
Yojana

D. Swachh Bharat Abhiyan 4. 2014

Codes :

A D

(@) 2
(b) 1
(c) 2
(d) 2

Which of the following statements is NOT correct
for National Pension Scheme for Retail Traders/
Shopkeepers and Self-employed persons 7

(a) Those who are in age groups of 18 to 40
years are eligible.

(b) Their annual turnover should not exceed
1.5 crore rupees.

(c) National Pension Scheme’'s member are
also eligible.

(d) It has a monthly minimum assured pension
of Rs. 3000.00.

B C

3 1 4
2 3 4
3 4 1
- 3 1

With reference to the programme “NIDHI|” which
of the following statement(s) is/are correct ?

1. The programme of “NIDH\" was started for
students to begin start ups.

2. Its aim is to financially support 20 students
for start. upin each year.

Select the correct answer from the i
codes
below. given

Codes :

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

The concept of ‘Ecological Transition’ was first
used by

(a) Elton (b) Bennett

(c) Berkeley (d) Ratzel

60. “fafr wrlsm & gl o e o @ A-TWAT

C. . tq, YR Wewred NI 3
D &&= NI e .

L T4
A B C D
(@) 2 3, 1 4
AT 1 12 3 4
(c) .2 3 4 1
d) ~.2. 4 3 1

59, farifctfgd o @ -1 U Geu Al /e

3 FFUTETS Safaadt & fom usda dvA 3w

& a1 H e T8 2 7 ‘.

(@) 18 § 40 ¥ A &l o AT 3HS UIA £ | |

(b) 39T aTffer Aq-24 (AHTE) 294 1,58
g vy T 8 |

(c) U U9 AT F TeEd 39% I 2 |

(d) 35 3=T1d ¥9a1 3000.00 1 Wit TH

gifeaa 2 |

O

Fﬁ%,"g?

i FfY sl ol & fau wié o g ™
fomam a2 )

2. THHT I 20 BEI F wrd I ¥y v
fata werar @ )

i fed T e & wd 3w ghe

L A

(a) Sae (b) %ad 2
AC) 1 3R 2 A (d)y A 1782

=
(a) TeeEd g (b) ®RETW
ko) T g (d) AT

.h“
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_____
...............
s -

RFL -1
62. Which one of the lowing is
O ound NGl in the amogom s, Mouse | g Preafrfa & 2 A v s v 8 e
(a) ':A'tff:\gen Oxide () Carbon dioxige T TN Wl 1w fa T8 R
Sl (d) Ozone L’@E?qm o, ((?) ngrém
> gﬁmﬁg’@aﬁg&i"s’f“’“ﬁg\a‘" be Classified as | @3 AT T aiewn iy sy wrfigpa fepant
s NOT a part of sych categz:-‘;o?ng the following HHaT ? | Prafafies § & 99— TS gH il
(a) Operational Environment H AW &R ¢
(b) Physical Environment W RUSISERS v
(c) Cultural Environment ((b)) \i‘(ﬁm RRICtL
d) Biological Enyi C) Wi Tatem
( og vironment (d) Jabrg
64. Given below are two Statements '
as Assertion (A) and other as é:::n|s(|‘qa)b;e“ed

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(€) (A) is true but (R) is false
(d) (A) is false but (R) is true
95, Which of the following are the impacts of Global
Warming ?
1. Rise in sea level

2. Melting of glaciers +
3. Spread of diseases

4. Bleaching of Coral reefs

Select the correct answer using the codes given
below.

Codes :

\@) 1,2 and 3only

(b). 2 and 3 only
(€) 1,3 and 4 only

(d) 1,2,3and 4

The Travel and Tourism Competitive Index (TTCH)
'S released by

\@) World Bank

\d)
\0) International Monetary Fund
) World Economic Forum

64. ‘ﬂéawﬁﬁﬂﬁi,ﬁﬂﬁ%@ﬁw (A) a1

T B HW (R) el T D -

T (A) - T T 2020-21 § H R 31 A
m%m%mmmmmﬁm
T mn 3
PO(R) : S5 | Wi 16 T rism i, fa
BRI IR G e =S
ﬁﬁi@@%mmwwm\
kT ,

VO (A) T (R) W w1 v (R), (A) B T

ST HT@[ R

(B) (A) 11 (R) A & R vy (R, (A) ) v
ST FE Lt 2

(€) (A) ¥ R g (R) e 2

(d)-(A) T ? W (R) T 3

65. ﬁq%mﬁﬁﬁq-méﬁamm(@waﬁm

& IME R 7

1. 993 9 9 1 s

2. T = e

3. St s e
4. o s w1 faem B
H‘é\mmwﬁﬁhnﬁ?ﬁz%%\
Fe
(@) Fae 1,233 (p) Had 2 3l 3
(c) %had 1, 3 3R 4

y,z,amzx

66. mmz@wmmm@.mm.)
Sl fern a2

(a) fowa & g

e
9) United Nations Development Programm

0
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67. Arrange the following events in chronological

order and select the correct answer from the
codes given below :

| Rio Earth Summit

|I. Publication of Brundtland Commission Report
11l. Enforcement of Montreal Protocol

IV. Publication of “The Limit to Growth' Report

Codes :
(@) I, IV, 1l 1l (b) IV, I, I, |
(c) IV, Il 1| (d) v, 1, 1,1

68. Consider the following events and arrange them

in chronological order :
1. Establishment of NABARD

2. Self Help Group Bank Linkage Programme
3. Kisan Credit Card Plan

4. Establishment of Regional Rural Bank
Select the correct answer from the codes given

below.

Codes :

(a)4,1,2,3 (b) 4,2, 3,1
(c)1,2, 3,4 (d) 4, 3,21

69. The National Chambal Sanctuary does NOT fall
in which of the following States ?
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Haryana (d) Rajasthan

70. With reference to the Skill India Campaign, which
of the following statement(s) is/are correct ?

1 Prime Minister had launched the Skill India
Campaign in July 2015.

2. The main objective of this Campaign
was to train India’s Youths in information

technology.
Select the correct answer from the codes given
below.
Codes :
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither1 . nor 2

71, National Clean Air Programme has been launched
by the Central Government in-the year
(a) 2018 (b) 2017
(c).2020 (d) 2019

72. The rulers of which of the following dynasty have
been called as ‘Shriparvatiya’ in Puranas ?
(a)-Vakatakas (b) lkshvakus

(C) Shaks (d) Kharvelas

-14-

68. ﬁw%ﬁgamaﬁw%anmqaﬂtﬁ

RFL—l

67. frafafaa geaa = mﬁwa’f&m
e qeur F2 A ™ % | T IW T
|. frar gedft frgt wv e
||, AT A g &1 YA
I, Hf=aTe WIethia 1 JaaA
Iv. 2 ferfire 7wy fard &1 gehreE
F !
(@) I, IV, 11, I
(c) IV, 111, 11, |

o i R ST

(b) IV, I, 111, |
(d) IV, 1, I, 11

mm@aﬁﬁq

1. A1&TE 6T TG -
2.@%{:@@%%@“
3. foram swfse &1 AT

4. & Tty s 6w

i fea ™ %z | w9 3w g |
Eh_)£21123 (b) 4,2, 3,1 |
V012,34 @ 43,2, |
69. U Trad ey f=fafad d | fha T &
fewen =& R 7
a) IT W (b) HEA WEH
\};,)gﬁwm (d) TSI

70, SEe W e % aed ¥ efafas s a sR-w /A

FU TE R/B 7

1. el W A 6 IEITE TUEEA A
et 2015 7 1 ot |

2. 38 FNEH &1 & I ARG & EI
a1 dheteh H Wiwifed s o |

e f@ ™ % @ 78 I T |

R

(a)%a?-m (b) Hae 2
c) 1 3 2 gl WIEERER V.

74. n@uwa@W%mmmaﬁﬁ £

gy fopem T B 7 :
(a) 2018 (b) 2017

:
(c) 2020 \/«ﬁ 2019 g
&

7. frefefas & @ frm dm % wee @ T A

fiqddi g TR ?

3ETD
ng
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73. Which ofthe following Comm:
a poverty line baseq qn - Tittee
exclusively ?

(a) Alagh Committee

(b) Lakdawala Committee
(c) Tendulkar Committee
(d) Rangarajan Committee

(b) Administrative Management
(c) Construction of roags
(d)

Revenue management

75  Which of the following indicators is NOT used to
calculate Human Development Index (HDI) ?

(a) Life Expectancy
(b) Education

c) Per Capita Income
(d) Social Inequality

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

~J
&)

List — | List - Il
(Mahajanpadas) (Capitals)
A. Matsya 1. Mathura
B. Kuru 2. Potan
C. Sursena 3. Virat Nagar
D. Asmak 4. Indraprastha
Codes :

.h._;.h._xo
- NN WD

The ide4 of 'Cultural Poverty’ was given by
(@) OscarlLewis

0) Gunnar Myrdal

'C) Aashish Bose

\d) Amartya Sen

-15-

RFL - |

73. Freffea afifdl § @ e am dres-adl #
SETIHAT 3 IR T et Y@ o fior fe & 7
(a) g wifa
ALY TTegaTen afifa

(c) dgereRt Tfufa
(d) TR |fifa

74, W e § wiFmg sttt feffea 7 9 6
&7 ¥ grafyag o 7
(a) 719 3 A
(b) TTET TEYH
(c) mmt fAmfor
AdT T Yau

75. Tl gesien d & Sia-a1 ama faem ga@i
(09.81.371%.) it o o wfeyfera =@ forar siar @ 2

(a) Sfaq weImsm
(b) Tram
(c) uia =afeq 3ma
A T STEET
76. T - | I gR ~ || | gAfera Hifve aur gt &
f2 2 1 %2 & wd I g
Tt - | T - I
CREeC) (Trrert)
A. TeER. 1. HYQ
B.§% 2. U
C. &+ —3. fareTm
D. 3790 4. ITUEY
F2:
A B C D
@ 4 2 1 3
) 3 1 4 2
ey 3 4 1 2
d 2 3 4 1

-, .5
A -
o \ k)
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78. Given below are two statements, one is labelled

79.

80.

81.

as Assertion (A) and the other as Reason (R) :

Assertion (A) : We have much more information
about Cholas than their predecessors.

Reason (R) : The Chola rulers adopted the
practice of having inscriptions written on the walls

of temples giving a historical narrative of their
victories.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

During the mid 80’s decade of twentieth century,
the negative aspects of development were
discussed at large. Which one among the
following was NOT such important ?

(a) Degradation of natural resources

(b) Environment pollution

(c) Politics and Development

(d) Displacement and Rehabilitation of masses

Which of the following Indian Archaeologists first
visited ‘Bhimbetka Caves’ and discovered prehistoric

significance of its rock paintings ?
(a) Madho Swaroop Vatsa

(b) H.D. Sankalia

(c) V.S. Wakankar

(d)

d) V.N. Mishra

The discussion on ‘Sustainable Development was
started after submitting a report on environment
to the United Nation in 1987. That report was

(a) First Report on Climate Change
(b) Our Common Future

(c) Second Report'on.Climate Change
(d) Fifth Assessment Report

78.

79.

80.

81.

-16-

RFL —|

2 2 s fed w1 2, fq v+ AT (A) a
gal &1 HIOT (R) Fal T2 :

®o (A) : B Jidl & fawa § 39 gadd] TS
&1 e e JEE 2 |

HUT (R) : Siel srgaht 3 wfedl 1 fard ' sificra
Iehiol 0 w1 wo gy fepar fomd 3eht fesm
& Ufaaifaes faator fea smd 4 |

2 3 M e § A @ 3 F A BN |

L T

ymmﬂrmmﬁiw%aﬂum, (A) 1 Hel

REAT T 2

(b) (A) 3 (R) @i @&l & 9 (R), (A) ! el
ST T8l Hdl 8

(c) (A) 44 ® 7% (R) TTeid &

(d) (A)TIETd 2 9 (R) ¥al 2

frad] |1 & 3l % 29 & HeA faeprd & FhReHS
qeii o faean & g9 < ef | frafafea 08 Sa-a
Ush I HEcaqol A A1 7

(a) UThfde GHIYA] 1 &0l

(b) THTAT TGV

AT wr ud faer

(d) a1 faeud vd gAdid

fr=fafiga 4 | fea wrdla quawaar 3 vged _
A fidash TET w1 e@n 3 IuE dafasi F )

giitfaaifies waca %1 @ 2

) Il T el

(b) w4 .21, Ghiictdl
(c) d1.1ud. ardheht
(d) .o, fsn

a9 1987 W HYFd U § waiequ § grafid U "
yfdded sl wedfd & 390 ‘wrfiy fawm (geed |

ST ) W ==l Y &§| 97 ufaded o
(@) STtary ftads W ggen yfqae

| JPY I I R

(c) Seary qitEda T gHu gfqae
CREEIR RIEERIGEES
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I Ne discussion on "Sustainable |

o= heccn Zre 350 steiamants, one s lsbedad | 3

oS AT A 2nd the omher as Reason (R

Asser=on (A) - WV A Mt TR AITIRRN

AL CROSS ST DT oA

Raason (R} The Chdsa moers 00 the

SrECC0S O IS MSIMPATNS Wiliar O NS wals

of torries NS @ hustoncal namate OF ther

VETSS.

Saedt e JJmet anseer from the oooes gnven

e — &~ N

Codss :

3 B (X" and (Riare true and (R) s the
SOITelX m2naTen of (A)

2* Bo» (A" and (R are true but (R is not the
Sorredt &xpEnaton of (A)

SIS T (R s Eise

d'A'sase outRI s true

D;;m*"enﬁd&?‘sdemdeofmenbemoen’uw S

O negaave aspects of development were

-

csCssed at iarge. Which one among the

o' Polcs and Devexcoment
S Desolacamen: anc Rehabiitation of n

A ——

3SSSS

Which of the foliowing Indian Archaeologists first | 80
vSEd Bhimbeis Caves ancas:\ereu;vm j
significance of i&s rock paintings ? "
Madho Swaroop Vatsa |
H D Sankalka I

W

)

V.S. Wakankar
V.N. Mshrs

©

(s

0
—t

Develooment 'was

started after submitting a report on enyirpiimen
1987. Thalepart was

2} First Report Shr€limat&Change

D) Que COmmon Futhé
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low the Jists
List — | | T
(Harappan Site) - (UTiState of ingj)
A. Balu 1. Uttar Pfadesh
B. Manda 2. Jammu ang Kashmir
C. Padri 3. Haryana
D. Hulas 4. Gujarat
Codes :
A B C D
(a) 3 2 1 4
(b) 2 3 4 1
(c) 2 4 3 1
(d) 3 2 4 1

No. of cities in U.P. which are covered uhder the
‘Smart City’ Scheme
(a) 10

(c) 15

(b) 12
(d) 18

Consider the following statements and select the
correct answer using the codes given below :

i The Sun temple of Multan is mentioned
by Hiuen Tsang, Abuzaiyid, Al-Masudi and
Alberuni.

2. The pilgrimage to Sambapur was
associated with Sun worship.

Codes :

(a) Only 1 is correct

b) Only 2 is correct

°) Both 1 and 2 are correct

'd) Neither 1 nor 2 is correct

'he Atal Innovation Mission (AIM) is a flagship

nitiative set up by

a) Ministry of Human Re
0) NITI Aayog

c) Ministry of Social Justice an
d) Ministry of Science-and Technology

source Development

d |mpowerment

Nneofthe following was senta

abourers\by Indian Governmentin the ¥¥e

SUummitief | 1.0O¢in the year 1919 7 ;
/ P "Wadia (b) N.M. Josh

C F.Andrews (

RFL - |

82. gt — | &1 gt — Il & gAfera Hife qur gl &

e foa ™ e 8 v I g :
=i - | gt - i
(FS01 QU1 ¥4A) (T T /WRd & 194)
A. ST 1. I W™
B. HTSI— 2. SH U9 HN
C. urst 3. ghamm
D. g 4. TSI
Fe:
A B C D
(@) 3 2 1 4
(b) 2 3 4 1
-2 43 1
(d) 3 2 4 1
83. 3I.9. % Fel U v S wé il e @ srraifed 2
(a) 10 A 12
(c) 15 (d) 18
84. fyfefiga suat w faaw fifse awn fi=9 f@ ™
@'dﬁmﬁmﬁﬁm
1. Hed™ % gd A &1 Iea@ 441, T,
Fenygdl qu sfoasd] A foran 2 1
2. | ITITcHE gAY € grafd o |
AR
(a) Fadt 198 2
(b) Shaet 2 TE B
(c)\1 3 2 gHi |&l @

LAl RELFALE

85. 3fed AdIHN e (u.318.uH.) e fawm &t uw
98 B 7
B RIEEEICERCEA REPIE
) Hifa smam
(c) T =g wa YT wae™
CRESIERCEETICARFILD!

86. WRd TN gRI 1919 H 3H3.UA.31M. & 1T
g § wagh o yfafafy & w9 4 fafafea o
g fora 99 mar o 2
\;a)”a‘i.tﬂ.aﬁ‘zm

(c) H1.UF. wgs

(b) TA.wH. S
(d) 8% dufeee
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87. The book ‘Silent Spring’ published in 1962 which

88.

89.

90.

91.

set the tone for an environmental movement in
the world, was written by
(b) Karl Marx

(a) Carolyn Merchant
(c) Rachel Carson (d) Rajgopalan

With reference to the Treaty of “Aix-la-Chapelle

— 1748" which of the following statements is/are
correct ?

1. The | Carnatic War was ended.
2. The English got back Madras.

Select the correct answer using the codes given
below.

Codes :
(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following is NOT covered under
Integrated Child Development Programme ?

(@) Supplementary Nutrition

(b) Immunization

(c) Nutrition and Health Education
(d) Family Planning

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List - | List -1l
A. Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 4. 1861
Codes :

A B C D
(a) 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
(d) 2 1 4 3

Match List — | with List = || and select the correct
answer using the codes given below the lists :

List - | List -l
A. Indus Valley 1. Pastoral
Civilization
B. Later Vedic 2. Land Lordism
Society
C. Rigvedic Society 3. Agrarian
D. Medieval Period 4. Urban
Codes .
ANBY C D
(@) 4 2 3 1
(b) 2 1 4 3
(ch3 4 1 2
(d) 4 3 1 2

18-

87. ¥ 1962 # i Teeh wrsei-< B o fag

88.

¥ el e i Tifd fiefl, % e &
(a) Fei Tk (b) et AT
\)u)iaaw (d) |

VFg-AT-da — 1748" H @Y & Fo i
ﬁ?%mﬁam-m/éwé/i‘?

1. YN Atk g I A1 |

2. IS ! HgE GH: I AT |

2 3 ™ e @ g 3w AU |

L T4
Fad 1 (b) HaE 2

(a)
\/(z)mﬂtza’t:h (d) Fa 19 & 2

—

S
‘l“'

L

89. wWf< & fasm ufisHr & 3riq f=feafea

90.

1.

8§ & S-u1 v g 7@ & 7
WoORCRLL

gt - |

1. 1876
2. 1878
3. 1869
4. 1861
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92. Who had mergeq Sikki ol
(a) Lord Hastings o lndia? '

) entin

) Lord Dalhousije i

) Lord Aucklang

93. Kanpurand Lucknow Cities of

cities as per the CeNSUS of Ingia 'i:etﬁa bt
(@) 1951 and 1961 "ESpectively s
b) 1961 and 1971 respectivey
¢) 1971 and 1981

)

respectivey
d) 1981 and 1991 "eSpectively

;

el s sital . s

(
(
(

TORSIGE =2 ¢ £ ¥V RV S

b) Sarojini Naidy  \

¢) Pt. Madan Mohan Malviya
d) Dr. Rajendra Prasad

o S
S W
Dl S e T -
QEESERSE S

95, Match List — | with List

— Il and select the correct
answer using the cod

€S given below the lists -

-
SO s M et

P %1 List — | List - 1|
: A. Jajmani 1. North India
| B. Bara Balute 2. Karnataka
C. Mirasi 3. Mahara_shtra
D. Adade 4. Tamil Nadu
Codes :
A B C D
a) 1 2 3 4
D) 1 3 2 4
(€) 1 4 2 3
(d) 1 3 4 2

Viatch List — | with List — Il.and select ?t: ﬁgggct
inswer using the codes given below .

. List = Ii
List — |
(Book) (Writer) A
A. The Story of My 1. gurer;jdef:"a
| : ane
Deportation
(“ltp Rahasya 2-Maulana Abul

3. Lala Lajpat Rai
4. Bal Gangadhar
Tilak

- AMNatlien in Making
U7 India Wins Freedom

Lodes -

(3

N D E0 D

)
)
)

4

A
'
-
‘|

wbwhm
) b )
~WWwNO

A
N 4

(@) ShH91: 1951 3R 1961 1
(b) shu¥1: 1961 3tk 1971 &
LASHShHR: 1971 31k 1981 §
(d) ShH1: 1981 3% 1991 &

94, ﬁqﬁ‘iﬁaﬁmﬁﬁﬁﬁ?%ﬁa’ﬁaﬁamﬁmﬁ
W @ fomm o 2

Vg/@ﬁ;.rﬁtﬂ
TR Frrg
(c) 9fed we A wrereig
&m.mm
5. TRl - | H g - 11 & AR Bt qe %
it - | = - 1
A. SIS 1. 3W YIg
B. 910 §§¢ 2. FAIH
C. fyufy 3. HEWS
D. &i3re 4. dftreTg
e :
A B C D
@1 2 3 4
b)y1 3 2 4
(c) 1 4 2 3
@1 3 4 .9
96. tgaﬁ-lﬁ@-uﬁgﬁ%aﬁﬁmm %
= nﬁizﬁutﬂmﬁﬁq: et
Tt - | ~
( ) ( )
Aagmm 1. Gty w9t
i fEurdsm
B. Tftar tew - WS g FHeA™
AT
C. TAYH 9 ufdm 3. STl SATSYd UG
D. 3fvga fag o1 TR foerw
F:
AS)
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97. The concept of ‘Marginal Man' was propounded by | 97 e ( )

(a) Robert E. Park  (b) Robert Redfield (@) ﬁaé: § (b) Ted THIcS

(c) Louis Wirth (d) Louis Dumont (c) 9% I (d) T3 e |
98. Who among the following established a modem | 98. F=fefad # & #1755 g %%’Tﬁm ‘ WA G

armoury in Dindigal Mysore in 1755 ? FYfE FEARTR Hi TG ek

(a) Nanjraj (b) Haider Al (a) TSI AT | 104.

(c) Devraj (d) Chikka Krishnaraj (c) QU (d) Teeh1 P |
99. Which one of the following is NOT a major cause | 99 frefefea 5 | Q‘T’T’m Th SISO %

of Wildlife Extinction ? &1 W@ HRO TEH 2 7

(a) Loss of natural habitat (a) Wpfaeh SATEE HI T BT !

(b) To make fire in the forest (b) STl | HT T | .,

(c) lllegal commercial trade of wildlife (c) F=ITforl <1 JaY o SR |

(d) Fast pace of population growth W I i E!'f? '.'

100. Given below are two statements, one is labelled | 100. < & %o fed m &, o ws # Fe7 (A) 3N 105.
as Assertion (A) and the other as Reason (R) :. qﬁ H! BT (R) shal T4 2: ‘
Ass:rtion (A) : The British Government HUA (A) : Tofesr &R 3 YRE & 37ET- 376 W |
introduced different land revenue system in O AT - 3TAT] ST
different part of India. H kS ! 3 maﬁ izﬁl
Reason (R) : It led to create different classes in RO (R) : F68 Wl feFami & Srert-3rerm 9 a9
Indian peasantry. T | |
Select the correct answer from the codes given 4= fea m o< 4 ¥ el I g | 106
below. : '

L T

Codes : A) 3 (R) 2H] AR (R), (A)

(a) Both (A) and (R) are true and (R) is the \)‘f ;rz“@n %@gﬁ% (R), (A) =1 &l
correct explanation of (A) :

(b) Both (A) and (R) are true but (R) is not the (b) (A) R (R) 3t &t & g (R), (A) F &
correct explanation of (A) AN &l T B

(c) (A) is true but (R) is false (c) (A) €& 8 T (R) 7Ted 2

(d) (A) is false but (R) is true (d) (A) TTeTd 8 93 (R) 9 2

101. In August, 20’210 Railwathgs%un; i'r: l?dlia was | 101, ¥RG 4 3T, 2020 ¥ frefefes womEt § @ w8l

: 5 . : vl :

gleacgggtgdtotenalonawm of the following R I IR TS Y Fuisa fm w2

(a) Hubballi (b) Mysore (a) @ ) A .

(c) Silvasa (d) Chittaranjan (c) \/w) IRt

107

102. Consider the following text and arrange them in | 102. fr=feRaa 79t v $ifiu 3tk 33} IR |

chronological order : afeqg $ifiu .

1. Fatawa-i- Jahandari 1. BaaT-U-Faferd

2. Prithviraja-Raso 2 Twm_m

3. ?itab-ul-f-iind 4 3. - fae ,

84.| a:);qat-u-Nasnrl ~ PR ?
elecl the correct answer from the codes given 3

below. :ﬁ%ﬁ'&"ﬁfiﬁﬂ'@mgﬁq|

Codes : e 3

(@) 2,3,4/1 (b) 3,1,2 4 () 2,3,4,1 (b) 3,1,2,4 ,

(c)-4, 371, 2 (d) 3,2, 4, 1 (€) 4,3,1,2 (d) 3,2 4 1 i

D -20- ) D

= :.-;,‘...."_'—'-m"-,-' Ta ACET T e o ~  —
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- v
______

(a) Saudi Arabia
(b) Kuwait

(c) United Arab Emirates
(d) Qatar

104, Who was the ruler of Golkondga when Ay
seized the fort of Golkonda in 1687 »

(a) Abul Hasan Qutb Shah
(b) Sikandar Adil Shah

(c) Ali Adil Shah li

(d) Shayasta Khan

105 Which of the following neighbouring countries of
India has banned free internet for social media

in July, 2020 ?
(a) Nepal (b) Bhutan

(c) Myanmar (d) Bangladesh

106, Which of the following statement/s is/are correct ?
1. Akbar tried to fix the age of marriage for
boys and girls.
2. Akbar gave freedom to girls to marry at their
own will and not under parental pressure.
Select the correct answer using the codes given

below.

Codes :

(@) Only 1

() Both 1 and 2

(b)-Only 2
(d) Neither 1 nor 2
T

2 : ia
Which of thé following statement/s about Ind

'deas Summit, 2020’ is/are conef:t : iness
. ltwas organised by US - e :;OS :
Council virtually on e (e

T RV T ST g1 I U g
(a) TS 3E

(b) Fea

ey G e 3pfi

(d) S

104. 1687 & i« afCTHE A Meigvel fhel T IAHBH
foran, 3@ Gg MAFUS] &1 AEH i &1 7
(a) A g6 P WE
(b) foerme anfea wma
(c) 31t Infee iz

) T W
105. T & Frefefiad wgid e B8 fraa Jers, 2020
# Hivre e & e qwe seeie dar | yfasy
TR 7
(a) T (b) ¥
e v (d) sy
106, fr=fafad sl § | H-w1/8 98 /8 7
1. 37haL A dshi AR wsfwdl & faamr $i 3y
fauiftd 3 &1 warE foear o1 |
2. 3hET 3 wisindl l HAMTEHT & gard A e
wd & 3eo1 4 faar 1 6 @ < o |
o fd ™ e &1 W@ = EE I g |

9c .

AT e 1

(c) 1 3R 2 g

(b) had 2
COELEERD

107. ‘3foean amsfean afie, 2020' = vy ¥ fFfafga

HYA/HYA § | HH-91/0 G 8/7 7
1. 38 IMNEHT-WRT SR RN gry aqa:
22 JeTs, 2020 T i faparn |

) ; ‘ powenng

> The theme of the Summit Was Em 2. T fawa (W) WA 1 guifaaator o)
India’ : 2 fed T % | |& I g |

en

Select the correct answer from el .

JEIowW. e \

Codes : (a) %saa 1 (b) HaA 2

&) 1 only (b).zon!)' (c) 1T 23l (d) AT 138 2
Neither 1 nor 2
Both 1 and 2 (d) ‘ 21-
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108. Match List — | with List — Il and select the correct

109.

110.

1.

112,

answer using the codes given below the lists -
List - |

List - Ii
(Officer) (Assign Duty)
A. Diwan-i-Tan 1. Look after the office
B. Mustarfi 2. Maintained a proper
list of main events
and firmans
C. Mushrif 3. Look after the Jagir
and Salaries
D. Vakianvis 4. Examine the income-
expenditure of State
Codes :
A B C D
(@ 2 4 1 3
(b) 3 4 1 2
(c) 1 3 2 4
(d) 4 1 2 3
The Uttar Pradesh Cabinet has approved on 2¢th
July, 2020 to establish a National Law University at
which of the following cities ?
(a) Kanpur (b) Lucknow
(c) Gorakhpur (d) Prayagraj
Which of the following is NOT correctly matched ?
(@) Shaikh Moinuddin Chishti - Ajmer
(b) Shaikh Burhanuddin
Gharib -~  Daulatabad
(c) Shaikh Mohammad
Hussaini — Gulbarga
(d) Shaikh Nizamuddin
Auliya = Multan
Indian Minister of Youth Affairs and Sports
announced on 25 July, 2020 that in 2024 fourth
Khelo India Youth Games' will be hosted by
(a) Haryana (b) Uttar Pradesh

(c) Karnataka (d) Maharashtra

Which of the following Mughal period canals, was

constructed by restoring the Rajabwah of Firuz
Shah ?

(@) Shekhnu-Ni (b) Shahab Nahr

108. §=t — | = g — || ¥ gafea Hifvm 3R giwt § 1§

o X
\ §

.
RFL < if

} 4

A A ™ g A wh s R ghc Y1
- | A= L1
Biea (fafga =d=a)

A §EH-T-g4 1. HEATET & @9 & fom 0 |

109. I wew wfmved 3 29 5@, 2020 =t A=t
mﬁﬁﬁ%&ﬁt@u%ﬁmﬁ'ﬂmﬁw
1 g fora R, 7

(¢) Nahr-i-Bihisht (d) Nahr-i-Agra

2. @ T 3 FEE B S|

115

116.

11
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on NASDAQ billboards in
on 29" July, 2020 ? N”szm,s-qm

(a) East Bengal

(b) Churchill Brothers

(c) Mohan Bagan

(d) Bengaluru Football Club

114 Who among the following was
ook Kitabi-Nauras' 7 I Sufhor of the

(a) Ibrahim Adil Shah Il
(b) Ali Adil Shah

(c) Quli Qutab Shah
(d) Akbar Il

115. The first ‘Kisan Rai,' of India started its journey on
8th August, 2020 between which of the following

two stations ?

(a) Ghaziabad and Howrah

(b) Devlali (Maharashtra) and Danapur (Bihar)
(c) Nasik and New Delhi

(d) Nasik and Ahmedabad

tricts of U.P. a major

116. | ' f the following dis .
n which of t g " collaboration

solar power plantwas established |
with France in 2018 ?

(a) Agra
(c) Deoria

(b) Ballia
(d) Mirzapur

7 Which of the following is NOT

(Summit)
(a) East Asia Summit, 2020 . -
(b) G-20 Summit, 2019 b
(c) G-7 Summit, 2019
(d) East Asia Summit, 2019 ~

(d) 12

Sy which of the followin a
first-ever E-LOK Adalat was g .
COVID-19 period Y, b) Mahafashtra
(@) Uttar Pradesh ( d) gihar
() Chhattisgarh 2

0

RFL - |

113, mﬁﬁm-mmwm,w
¥ I WA fud Jae (NASDAQ) & faeeis
W 29 [T, 2020 H TE WA FA AT bl
$EAT FId §41 7
(a) = T
(b) wfdfe wed

\/@)WW

(d) ST FeaTe FE

fraferfaa & @ ®Y7  frare-u-AR@’ THS TEH H
oE® o7 ?

(a) 3fem anfew e fdta

(b) 3reft 3nfea wE

(c) Feft FIF WE

(d) e fgdta

i 6 qreh e Yo RefiRea e @ R
¥ 9 8 37T, 2020 Y G AT TN H 7
(a) miraTETg 37 BEST

Ab) Za@re (ETrsg) R AR (feEm)

(c) TRy 3k 7% et

(d) iR 3R HFHCTETT

mm%ﬁw%f@aﬁ?ﬁﬁﬁmﬁzmsﬁm
¥ el | U Jag W1 Sl §AF I wiid fea

TR ?
(b) sferan

(a) AT
T

(c) eafan
frferfaa & @ w-a1 wé gifea 7@ 7

114,

115.

116.

117.
(FHEH) (FuT)
(a) ¥ TR weE, 2020 - FATR
(b) S1-20 FHEH, 2019 _ g
V(pyeﬁ-mrﬁm, 2019 - fyaf@
) $ R g, 2019 - @ L
118. St 20208, IR S H fpay 3R Tl H THE
gree’ ® wfe feman T 7
V(J)’B (b) 6
(c) 9 (d) 12

W%ﬁq‘%ﬁauﬁiﬁﬁmﬁﬁﬁs-wm

119.
¥ qecht AT $-e rere YR El 7
ey I e (b) WERIS:
(c) BEETg (d; feEr
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| STl § @ RIH-a1 WA W g PE
120. Which of the following tribes is NOT the native to the | 120, fiforfia kL Sl h s 2%
~ ia ? #HN fAeplam gia aqgl & ge '
Andaman and Nicobar Islands of India “ (b} By
(a) Halchy (b) Rengma AT BT s 2ikdie |
(c) Onge (d) Shompen (c) 3T s ‘ A
| |79l 1 0T 2018 B.
121.  With reference to the detailed report of Tiger | 121. YRd "R g ﬁali 2020 H + el 4 "
Census 2018 released by Government of India R A foeqd gfdqaeT & gwed 4 |
In July 2020, which of the following Statement(s) Ho § Q4 Fa-71 /4 qdt 2/8 ? D
Is/are correct ? , 0
1. India has 70% of tota| global tiger's 1. 9Rd # fava i o1 @i 6 Hwid # 70./*: | Co
Population. T 30% &T9, €19 3T9IRUG]
2. Nearly 30% of India’s tigers live outside 2. WA % \ > (a)
tiger reserve. & & E | (b)
Select the correct answer from the codes given Ao fead 7 %2 | 98 3w g |
below. | Fe (c)
Codes : a' e 2 (d)
(@) 1 oniy (b) 2 only (@) ; (b) = & 2
() 1and 2 both (d) Neither 1 nor 2 ©13M 220 ey a1y 127. Wh
stal
122 Which of the following rivers is a Trans-Himalayan | 122 fiysiffiga H 8 -1 0% 981 fenrerg—un | 202
river ? (Fra-femrer) 78 @ 4 , (a)
(@) Jhelum (b) Sutlej (a) 3o N "aeTs | ()
(c) Ganga (d) Ravi (c) T (d) wd |
128. Giv
123.  Which among the following hosted Global | 123, fr=fafigd i 3 8 Tefaer dafi AT ) :ic
Vaccine Summit’ on 4th June, 2020 ? 49, 2020.%! A5Er <y o of c;
(@) United Kingdom (a) F13eE fohrey Rez
(b) United States of America (b) AYHa U= 378y | cott
(c) India (c) RH . grolt
(d) China (d) =fiq b::lé
| : Coc
124. Which of the following is NOT correctly matched » 124. Tratefla & & ab-m o gifera i3 - | (@) |
(Tribes) (Location) (m) (sraterfy) | (
(@) Angamis - Nagaland (a) 3y ~ MTTetvg (b)
(b) Birhors ~  Jharkhand (b) ferER = 1RRC ey ) ¢
C) Khas = Arunachal Pradesh c) @Y _ 3 (C) (
((d)) Todas - Tamil Nadu ((d)) el Frﬁq-aq@ - g
129 On 2
n
125, 'Sarthak’ launiched in August 2020 by Ministry of | 125. & HATSH, MR TR & 3T 2020 3 IRy Ty Inay,
cl))fcet:]een;:;;oc\sw?:e?ment of India relates to which T HT i 1 g frey Trafiyg g7 Rese
(a) Smart Borr?b. (;Ia:).WTéa HI; “Ov
(b) Rocket Launcher 4 \d) N
(c) Offshore Patrol Vesseg| () 39y Tt REE (b) K
. . q
(d) Light Combat Aircraft (d) &oh ASIE fagm (©) N
] D

&
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?

answ.er using the code g::l::zes:';(;ththe Correct
(LL":tke)l T
A. Sala Lake 1 LLocati"")
B. Badkhal Lake o H;“;:zf;al Pradesh
C. Loktak Lake 3 ManipUr
D. Kaliveli Lake 4 Tami) Nady
Codes :
A B ¢ 'p
(a) 1 2 3 4
(b) 2 1 3 4
(c) 1 3 2 4
(d) 1 4 2 3

2020 ?
(a) Guijarat (b) Haryana
(c) Punjab (d) Rajasthan

Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R)

Assertion (A) : Ahmedabad Is the largest centre
of cotton textile Industry in India.

Reason (R) : Ahmedabad is located in Major

cotton growing region of India. so it has no
problem of raw materials.

Select the correct answer from the codes given
below.

Codes :

(@) Both (A) and(R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is.not the
correct explanation of (A)

(C) (A) is true but (R) is false
(d) (A) is false but (R) is true

On 27t July, 2020 Prime Minister of India virtually
Inaugurated three new Indian Council of M?dlcal
Research (ICMR) high-end testing laboratories for
COVID-19 test at which of the following places ?

(@) New Delhi, Kolkata, Chennai
(b) Kolkata, Noida, Mumbai
(c) New Delhi, Kolkata, Mumbai
(d) Chennai, Delhi; Mumbai

RFL - |
126. @-uﬁqm-uag&%aa&ﬁuazanmﬁ%
1 fed %2 A w8 3w wf .
gt - | g - I
(3fte) (arafeafy)
A. |1 3Hie 1. 3= Yoyl
B. 93w« 3t 2. i

127. ﬁtr%ﬁaaﬁ@%ammi‘wl-%nm%%z
HI1S' AT B AW q¥ 2020 F o 2
(a) TS ok
GREIC (d) TSN

128. ﬂ%ém%&n&%,ﬁnﬁqmﬁwm)m
R FFRY (R) F& TR -

HAI(A) : FEHETR WRA | Gl 63 I 71 g9
T HRR |

HRUT(R) : AR WA & W HIE IaueT &5 o

@Ja%,m%qsﬁmmﬁﬁémqﬁh

A2 A ™ %z ¥ 9 3w gfv |

He

AT (A) 3R (R) 2w § sk (R), (A) 1wl
RS HAT 8

(b) (A) 3R (R) 31 &8 & W (R), (A) 6 T
SATEAT & AT

(c) (A) &8l 8 fvg (R) TTera 2
(d) (A) o4 @ T (R) & 2

129. 27 91, 2020 1 YR ¥ TureE Y Sfofes 3 3
fpe T W Afae-19 wham ¥ S §5 3¢ e
fafecar amEuM oftse (M. wmam.) I=9-Avhi
TIET AT T T Igae e 2
(a) 7 feeeh, Hrawm, 3=
(b) hISThraT, FTer, yrad

ey 7§ feeett, Frerman, pad

O(d{%:d’ fewelt, g
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130. Which one of the following is the youngest
mountain range of India ?

(b) Aravalli Range

(a) Himadri Range
(d) Vindhya Range

(c) Western Ghat

Which of the following Airports in Uttar Pradesh
has been granted International Status on

24t June, 2020 by Union Cabinet of India ?
(a) Agra Airport (b) Prayagraj Aitport
(c) Gorakhpur Airport (d) Kushinagar Airport

131.

Match List — | with List - Il and select the correct

(a) Temmst Ao (b) Tt o
(c q7e (d)fa:wraaévﬁ

131, s wew & Pt § @ fe g 1@ P R
3 3=t sifmUSE ¥ 24 5, 2020 1 ARG T
witpa forar 8 7
(a) 3T gaTs 3 (b) SRS TS 3T

(c) TRER &aT§ 3F \(}”Wmm
@_lﬁ@-llﬁgﬁ%a#ﬁqu%

132.
et - | et - i
(da Iu) (T53)
A,W 1. FEYS
B.ﬁrﬁ‘?ﬂ\z. g
C. st / 3. Tl
D. &4l 4 _AETE
L T
A B C. D
e 4 3 12, 1
) 4 2~ 8 1
(c) 4 1 3 2
d 3, (4 2 1
133. fr=fafga 4 @ fem 2w &1 a9 2021-22 & fofu
T TS GUaq giwe & eyl 988 & ®9 7 5
2020° T g TR ?
(a) IS (b) a4
_(ey ufege! (d) SHATST
134, frfafga § 4 $1F-a1 ad gofea w6 ¢
(@) (I TR)
1. afan ferrgt
z.mwﬁ#/t e
3. W - e
4. 919413 - &l
2 A ™ e & vt 3w gh |
F:
(@) 137K 2 (b) 2 3R 3
(c) 13K 3 (d) 23 4

132.
answer using the codes given below the lists :
List - | List - Il
(National Parks) (States)
A. Indravati 1. Jharkhand
B. Mollem 2. Haryana
C. Kalesar 3. Goa
D. Betva 4. Chhattisgarh
Codes :
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
(c) 4 1 S 2
(d) 3 4 2 1
133. Which of the following countries was NOT elected
in June 2020 as a non-permanent member of
United Nations Security Council for the year
2021-22 ?
(a) Ireland (b) Norway
(c) Mexico (d) Canada
134. Which of the following are NOT correctly matched ?
(Mineral) (Mining City)
1. Copper - Chitradurga
2. Iron ore - Ballari
3. Manganese - Bhilwara
4. Bauxite -~ Katni
Select the correct answer from the codes given
below.
Codes :
(a) 1and 2 (b) 2and 3
(c) 1and 3 (d) 2and 4
-26-
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Cabinet of India on 2gth Jul);: ggg'(')oyed by Union

1. It was drafted by a Commi
Dr. K. Kasturirangan, o Ioaied by

2. It will replace the previous Equcati -
| ucati
which has been followed since lasto gBPolncy

years.
Select the correct statement(s) fro
given below. V2 Tron ths codie
Codes :
(a) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

136. Valley of Kashmir is situated between
(a) Kangara and Dhauladhar ranges
(b) Pir-Panjal and Himadri ranges

T
b
g

@

”~
-

RFL -

135. 29 | 2020 F WRA * FaE FAHUST @l

Eﬂgrjémﬁlmﬁﬁ%wuﬁﬁw%ﬁﬁ

E‘Uﬁq{ﬁ?ﬂm:

1. 48 &, . FEOeE 1 A ae atd
2T AR & Mg A |

2. 77 fama 38 9§ & = frwe R Aifd =1

&g o7t | |
3 R T 2 | g FY/FuA B A |

\/Ez@m (b) +I 2
() 1 3 2 3 (d) TFa@ 1798 2

136. v aTdt a2 |
(a) FhTer 3k demr geda-AfEt = 95
\_(by TR-garer 3fk fmrsh wda- Aot & 7

(c) Mahabharat and Dhauladhar ranges
(d) Pir-Panjal and Mahabharat ranges

—a

127

Which of the following Indian States/Union
Territories launched Electric Vehicle Policy on
7t August, 2020 ?
(a) Madhya Pradesh
(C) Delhi

(b) Uttar Pradesh
(d) Tamil Nadu

Consider the following tributaries of River Yamuna
and arrange them from West to East

S

1. Betwa
2. Ken
3. Sindh
4. Chambal
Select the correct answer from the codes given
pelow
Codes :
a) 4,3 1and 2 (b) 1,2,3and4
c) 3,2, 1and 4 (d) 2, 3 1and4

) Which of the following Indian Foundations has
received the Food Vision 2050 prize In August |
020 ?

3) Smile Foundation
0) Naandi Foundation
C) Adani Foundation

J) Reliance Foundation

ich one.6f the f ~q is NOT correctly
hed? e following

(c)mmmm-wasm
(d) TR-daer 3k e Tea- ARl % 7EA

137. PefRes § & R Tou/89 Ts9es g 7 37, 2020
%! frge wifer amew iy Y gwon AT R 7

(a) HEATSH (b) I WV
(o) Rl (d) P

138, AT TS i Prafeiies weras Afedl W fa=m S
3 3% TR g8 H 3N F AT HT :
1. &qdl
2. HA |
4. IrEA |
A2 R T g @ 7 I I |
C T
(@) 4,3, 13 2 (b) 1,2, 33 4

\/(zrs,z,mﬁu (d) 2,3, 13K 4

139. fr=feRea # | fora WA $13veyH 3 30 2020

i %g fas 2050 IEHR Y foRam 7

ountry) gron-Ore
‘ roducing Area)
Bkhstan. .~ -~ Karaganda |
e —~  Krivoy Rog
any ~ Normendy
- Pyrenees

(a) T3 BISUVSYH
_{b) T BV
(c) TS HIIVEIH
(d) Femag H13veyH
140. Pr=fefed § @ F9-91 T wd aqfora @R ?
(39) (Fig-afre Jeaes &)
(a) FATGEH ~  HOS]
(b) T - fwaR
OELLL -  HrvE
(d) ®TE -~ O
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141,

142

143.

144.

145.

First ever containership from Kolkata Port to
Agartala was sent through which one of the

following Ports of Bangladesh in July 2020 ?
(a) Benapole

(b) Maloti

(c) Payra

(d) Chattogram (Chittagong)

In which of the following regions of the world, the
production of citrus fruits is well developed ?

(@) Monsoon regions

(b) Tropical high lands regions
(c) Mediterranean regions
(d) Equatorial regions

Who among the following has been awarded with
the ‘Life Time Excellence’ Award in Earth System

Science in July 2020 by Ministry of Earth Sciences,
Government of India ?

(@) S. Suresh Babu
(c) S. P. S. Kushwaha

(b) P.L. N. Raju
(d) Ashok Sahni

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List - | List -l
(Tropical cyclones) (Country)
A. Baguios 1. Australia
B. Hurricanes 2. China
C. Typhoons 3. Philippines
D. Willy-Willies 4. United States
of America
Codes :
A B C D
(@) 3 4 1 2
(b) 3 4 2 1
(c) 2 3 4 1
(d) 2 1 3 4

With reference to Eutrophication, which of the
following statement(s) is/are correct ?

1. It decieases.wissolved oxygen of water.

2. ltis aphenomenon of nutrient enrichment
of a water body.

Select the correct answer from the codes given
below.

Codes :
(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

141. mmam%mmﬁm“

HTeraTE FE qeis 2020 H aered + Frefefy
i ¥ fpe T=guTE A B WS T 7
Vit
(d) wgrum (faeni)
142. fava ¥ Frefafiaa veui & @ frad @22 @ wa 147.
%1 IedTe 5gd faehidd 2 ?
(a) AR Wo
(b) ITHRrEHy I=ayfiy weu
AC) YT W&
(d) YAEE 92T
143. gt fasTe arerd, WG §TR gRT s 2020 #
frafafes 4 @ feg gt yoreft fagm o e
139 Icheedl TSR WgH fomm man @ 7
() W@ GO EY A f. T W T 148
(c) UH. . TH. FYEE. (d) 9IS qIE
144. H=l — | &I g = || @ gafea Hife a2 giaa
ﬁﬁaﬁﬁﬁﬂﬁmﬁﬁmz
gt - | gt - |l 149,
(Iursfeasiia wwam) (2m)
. R fern
2. 919
. Thferams=a
. BYF TG 3mfE
= 150.
A B C D
@ 3 4 1 2
AT 3 4 2 1
) 2 3 4 1
d 2 1 3 4

145. HINU (FIERPTH) F ey § Prafofes § )
HIH-|1/8 FYT GE B/F 7
1. 98 9 H gferd smefio =t &9 o R |
2. 98 9 T % Gs aew dad ) wem @ | | |

fr fed ™ gz @ wd 3w gf |
T
(a) &ad 1 wa%aaz

(c) 11 2 i (d) Fa 1782
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g‘) nge is sityat
3 40 :&lowing coasts OfAUStralia ng wh'Ch

Eastern G ’ “Tthe | 146 -
) North-Eas Oast + Sifehy s
i\ southemn Coast . W@%:‘;@%m % Prerfefas w2t 7 2 fra
) Eastern Coast (a) S -eff 7o
. South-Western Coast \J(tb;'ﬁfhvﬁ T
|V C ‘waz
. anange the following events in ¢, () 2ot -afeenfy o
order of their “ommencement ; NOlogicy 1
. Project Tiger 4. PR wemsi o T T ¥ Frermn i
|. Project Elephant SR iy -
II. Wildlife Protect Act . WiFe aram
V. Biological Diversity Ay . ¥R
. Sty
Select the correct answer usin qT Hfforem
nelow 9 the coges given V. ST fafyea Aftrfoam
Codes : ‘ﬂ%ﬁiﬂiwﬁw:{mgﬁw
@) 1,10, 11 1V (b) n,, \YATT Fe:
c) I 1,1, 1V (d) m, v Ll @) 11, m, v (B) 11, 1,1V, i
| P AT 1 11 1y (d) W, v 1
{148 Which of the fo OWing ocean curr : NP
associated with Indian Ocean 2 e B } Tl f;é P R o fies wern
(a) Florida current (b) Canary current frﬁ !
c) Agulhas current (d) Kurile cyrre t - v S A
& L (C) IeTer™ RS um
4. The movement of nutrient element; through the | 149, &% oiifRufeh) a3 3 = el & g g
vanous component§ of an ecosystem is Called a1 I FEeTaT 2
4 Bio-geo-chemical cycle (@) HAT-y-TamT T
0] Bio-geological cycle (b) ﬁa-*mﬁf?ﬁ =60
¢} Ecological succession A€) TRFeufs sy
J) Biological cycle (d) ¥y =35
U Match List — | with List - Il and select the correct | 150, { - | = gt — 11 guferd i aen gt %

“fswer using the codes given below the lists - | LERCRD T | HEl I R
List — | List - I

- | gt - |

(Ethnic Group) (Country) ‘ (Fomeita Tpg) (3o)
A Jews 1. Egypt ‘ '

B. Teda 2. lran

C. Beja 3. Libya

D. Lur 4. |srael :

Codes : ' A B o D

Wl S\\Vi @ 1 2 3 4

a2 Y 4 b 4 1 2 3
R\ '/ ¥ 3 AT 4 1 3 2
C) 4 1 3 2 d 4 3 1 2

) G 2

| s \
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